144  Chapter 12

la ISCUSSION

Now try to substitute the following given values of x into equation
(B): 2x+10 = 2(x+5), and check if the left-hand side (L.H.S.)
of the equation is equal to the right-hand side (R.H.S.).

(i) Whenx =0, LHS.= =
RHS.= =
Is LHS.=RHS.? =l ==
Yes No
(i) When x = -1, LHS.= =
RHS.= RS
Is LHS.=RHS2? = =)
Yes No
(iii) When x = _é, LHS.= =
RHS.= =
Is LHS.=RHS.? | S [ =
Yes No

From the results obtained in the Class Discussion, we can see that
equation (B) is satisfied not only by x = 2, but also by many other
values of x. In facr, equation (B) is satusfied by ALL values of x.
Such an equation is called an identity*.

An identity in x is an equation in x which is satisfied
by ALL values of x.

To indicate an equation is an identity, we replace the equal sign
* = in the equation by the identity symbol ‘ =’ which means ‘is
identical to’. Hence equation (B) is written as 2x+10=2(x+5)
to show that it is an identity.

2 AN
Notice that when we muluply out the R.H.S. of the identity « 2(x+5) = 2x+10
2x+10=2(x+S5), we obrtain an expression identical to that in 3
the L.H.S. 4
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